 

2 POINT PERSPECTIVE WITH A TWIST


You still have a single HORIZON line but have sets of vanishing points along the horizon line (A & B), (C & D), (E & F)


You still create your boxes with starting with a vertical line that is perpendicular to the horizon line. You still have your


Distance (diagonal) lines going to your vanishing points. Box #1 will go to set AB, Box #2 will go to set CD, Box #3 will go to set EF, Box #4 will go to set AB, Box #5 will go to set CD...            Then you can shorten the boxes by drawing lines between your distance lines that are parallel to your original vertical lines. Add diagonal lines from the ends of the new lines to create the rest of the box to the opposite vanishing point. 


(See box #1 notice how the line for box #2 seems to help support box #1)
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